
Group: CHD-SUPERCHD

Engine: LDW 1603   Drawing: D

TIMING/SPEED GOVERNOR

POS. CODE DESCRIPTION Qty

  1 9865.145 fiXing screw 3

  2 7625.125 washer diam.10,5 3
  3 «–––––» washer 0

  4 5615.009 spring 2

  5a 1541.236 inlet rocker arm 3
 11 «–––––» rock.arm shaft support - see Pos. D 52 0

 13 2280.044 key  4 X 4,5 X 16 1

 14 1580.147 bushing 1
 16 9765.009 screw M 8 X 10 2

 17 1240.006 snap ring 2

 18 1580.148 bushing 1
 19 1410.139 push rod 6

 20 7215.111 push rod 6

 21 2615.040 camshaft cover 1
 22 «–––––» gasket 0

 25 7362.311 SPEED GOVERN. 3000 R.P.M. 1

 25 7362.312 SPEED GOVERN. 1500 R.P.M. 1
 26 2086.122 governor bell 1

 27 3495.046 spacer 1

 28 1770.002 bolt M 8 X 1,25 X 16 2
 29 7565.007 washer diam. 8 2

 30 6275.120 safety plate 1

 31 3001.065 ball bearing 1
 32 9730.010 screw M 6 X 16 3

 33 1780.104 bolt 1

 34 1200.219 O ring 1
 35 9820.138 fiXing screw 1

 36 1257.156 thrust washer 1

 37 4936.165 intermediate gear 1
 38 1257.157 thrust washer 1

 39 1580.154 bushing 1

 40 9732.074 screw M 8 X 20 4
 41 6130.099 gear shaft 1

 42 1011.564 camshaft ( > 2400 R.P.M.) 1

 42 1011.565 camshaft (< 2400 R.P.M.) 1
 52 6045.159 rocker arm ass.y 1

 62 4936.121 gear 1

 63 4580.185 gasket 1
 64 5900.015 hub 1

 65 9730.100 screw M 8 X 25 2

 65a 9732.074 screw M 8 X 20 1
 66 1257.033 thrust washer 1

 67 1301.047 center ring 1

 68 1202.017 O ring 1
 69 1257.032 thrust washer 1

 70 1580.147 bushing 2

 71 3810.085 HYDR.PUMP SUPPORT (2PD - 3° PTO) 1
 72 1240.037 circlip diam. 38 1

 73 1200.073 O ring OR 158 1

 75 1200.286 seal ring  9,25X1,78 1
 76 9730.325 screw M 5 X 10 1

printed by LOMBARDINI:   14.11.2012  -      1



Additional Info - Engine: LDW 1603  Drawing: D

TIMING/SPEED GOVERNOR

Pos. Old part Serv.Lett. Notes S.No/Date

D 22 4431.146 300055 -  fitted until shown engine s.no 7310952

D 25 7362.328 300065 Pos. 23-24-25  -  substitution ……..

D 25 7362.329 300065 Pos. 23-24-25  - ……..

D 42 1011.423 300050 - 4473837

D 52 6045.139 300062 - 7334774

D 75 300062 - 7334774

printed by LOMBARDINI:   14.11.2012  -      2



E
n
g
in
e:
 L
D
W
 1
6
0
3
  
D
ra
w
in
g
: 
D

p
ri
n
te

d
 b

y
 L

O
M

B
A

R
D

IN
I:
  
 1

4
.1

1
.2

0
1
2


